HNew gsusy Semi-Conduator fpzoc{uati, ﬂna

20 STERN AVE. .
SPRINGFIELD, NEW JERSEY 07081

TELEPHONE: (973) 376-2922
(212) 227-6005

USA FAX: (973) 376-8960
BUY47
BUY48
MECHANICAL DATA
Dimensions in mm (inches) HIGH VOLTAGE, HIGH CURRENT

SILICON EXPITAXIAL PLANAR
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Pin 1 — Emitter Pin 2 — Base Pin 3 — Collector

ABSOLUTE MAXIMUM RATINGS (Tease = 25°C unless otherwise stated)

NPN TRANSISTOR

APPLICATIONS

Intended for High Voltage, High Current,
Switching Applications up to 7A.

BUY47 BUY48

Veso Collector — Base Voltage (le=0) 150V 200V
Veeo Collector — Emitter Voltage (Ig=0) 120V 170V
Vego  Emitter — Base Voltage (Ic = 0) 6v
Ic Collector Current A
lem Peak Collector Current (repetitive) 10A
Piot Total Power Dissipation @Tmp < 25°C W

@Tcase < 50°C 10w
Tsta Storage Temperature Range -65to +200°C
T, Maximum Operating Junction Temperature 200°C

~ Quality Semi-Conductors




BUY48

ELECTRICAL CHARACTERISTICS  (T,... = 25°C unless otherwise stated)

Parameter Test Conditions Min. Typ. Max. {Unit
Vg = 80V BUY47 10 HA
=0 Tc=125°C 1 mA
Iceo Collector Cut-off Current
Veg = 100V BUY48 10 HA
=0 Te =125°C 1 mA
Vigriceo~ Collector — Base Breakdown Voltage e = TmA BUY47 150 v
le=0 BUY48 200
Veeosusy: Collector — Emitter Sustaining Voltage lc = 20mA BUY47 120 \
lg=0 BUY48 170
Vegor Emitter — Base Voltage g = 1TmA lc=0 6 \%
I = 0.5A Ig = 50mA 0.05
VcE(saty  Collector — Emitter Saturation Voltage |l = 2A g = 0.2A 0.45 \
fc = 5A g = 0.5A 1
Ic=0.5A Ig = 50mA 0.8
Vpegaty Base — Emitter Saturation Voltage Ic = 2A g =0.2A 1.1 \
I =5A g = 0.5A 1.5
fc = 50mA Veg =5V 130
, Ic = 0.5A Veg = 5V 40 150
hee- DC Current Gain —
lc = 2A Veg = 5V 40 130
Ic = 5A Ve =5V 15 45
fr Transition Frequency ic = 100mA Veg = 10V 90 MHz
_ =0 Veg = 50V
Ccro Collector — Base Capacitance { = 1MHz 45 80 pF
ton Turn-On Time Ic = 5A Vgo =40V us
tosr Fall Time lgq = —lgz = 0.5A 2
NOTES

* Pulse Test: t, = 300ps, 0=15%




